JOOP!

CORNFLOWER ACCESSORIES
MANUAL




JOOP! CORNFLOWER KONSOLENTISCH

JOOP! CORNFLOWER CONSOLE TABLE

MONTAGEANLEITUNG
Mounting instructions/ instructions de montage/ istruzioni di montaggio

Tischbeine mit den entsprechenden Schrauben (M8 x 30) und Schlisseln befestigen. Die Ab-
deckung mit den entsprechenden Schrauben (M6 x 35) und dem Schliissel am Ablagetisch befestigen.
Fasten the table legs with the corresponding screws (M8 x 30) and spanners. Fasten the cover to the storage table using the
corresponding screws (M6 x 35) and the spanner.

Fixer les pieds de la table avec les vis correspondantes (M8 x 30) et les clés. Fixer le couvercle a la tablette avec les vis
correspondantes (M6 x 35) et la clé.

Fissare le gambe del tavolo con le viti corrispondenti (M8 x 30) e la chiave. Fissare il coperchio al tavolo di stoccaggio con
le viti corrispondenti (M6 x 35) e la chiave.
JOOP! PREMIUM CARE PROGRAMME

JOOP! bietet mehr als hervorragende Produktqualitat mit selbstverstédndlicher Zwei-Jahres-Garantie - registrieren Sie sich und lhr
Produkt flr den individuellen Support unter www.joop-living.com/premiumcare.

JOOP! manufacturers offer outstanding product quality, including a 2-year warranty. Register your product now at
www.joop-living.com/premiumcare and get individual support.

Find us on o@@@ @joopliving

www.joop.com/living

JOOP! LIVING, HeilwigstraBe 33 - D-20249 Hamburg, phone + 49 (0) 40 480 925 10, fax + 49 (0) 40 480 925 19



